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Note : "Spectroscopy" is typically :
sal drive on a frequency wo

,
measure

response by system - e
. g . fluorescence, absophic strength,

etc
.

strength of response allows to draw I and them
,
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Note : "Splitting the live"-



2) Coupling & fl crossing
Two states
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Note
: same eijenstate super-

split by funneling rale< pailias : it (In (d) ,
even

if they have same energy
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d) Spin-furic two- Call supters

- Eigenstates
Sz(g) = = (4) = Sz = E)(exe) - 1g)(8))
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Other spin projections
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"raisnig & lowenig operators
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① : bosons
, formious, or other ?

never bosons - so TLS cam be excited twice!

e) Transilious

by TLS ?

-typically , only 2 states of atom are addressed

by a laser or similar!

-more complex supters usually use TCSs as

basic building blocks
.

(i) Interaction picture
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Ho (g) = - I wo (g) 3 Ho --woz
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VC) : H = Ho+UCH) : Vgg = Vee =0

Schrodinger Eq :

it &+ 14 = (H
.

+ V) 14) (1)

know def) :

Ho 1) = Gwa(n) /general one
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(2) wib (1)
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